

Console

| N01   | N02<br>N41     | N11<br>N42      | N12   | N21    | Net31  | O31   |
|-------|----------------|-----------------|-------|--------|--------|-------|
| 0.000 | 2.000<br>0.000 | -1.000<br>1.000 | 1.000 | 0.000  | -0.000 | 0.000 |
| 0.000 | 1.000<br>1.000 | 0.000<br>0.500  | 0.500 | -0.625 | -0.000 | 0.000 |
| 0.500 | 1.000<br>0.750 | -0.625<br>1.000 | 0.750 | -0.391 | 0.244  | 1.000 |
| 0.750 | 1.000<br>0.875 | -0.391<br>1.000 | 0.875 | -0.221 | 0.086  | 1.000 |
| 0.875 | 1.000<br>0.938 | -0.221<br>1.000 | 0.938 | -0.117 | 0.026  | 1.000 |
| 0.938 | 1.000<br>0.969 | -0.117<br>1.000 | 0.969 | -0.060 | 0.007  | 1.000 |
| 0.969 | 1.000<br>0.984 | -0.060<br>1.000 | 0.984 | -0.031 | 0.002  | 1.000 |
| 0.984 | 1.000<br>0.992 | -0.031<br>1.000 | 0.992 | -0.016 | 0.000  | 1.000 |
| 0.992 | 1.000<br>0.996 | -0.016<br>1.000 | 0.996 | -0.008 | 0.000  | 1.000 |
| 0.996 | 1.000<br>0.998 | -0.008<br>1.000 | 0.998 | -0.004 | 0.000  | 1.000 |
| 0.998 | 1.000<br>0.999 | -0.004<br>1.000 | 0.999 | -0.002 | 0.000  | 1.000 |
| 0.999 | 1.000<br>0.999 | -0.002<br>1.000 | 1.000 | 0.000  | -0.000 | 0.000 |
| 1.000 | 1.000<br>1.000 | 0.000<br>1.000  | 1.000 | 0.000  | 0.000  | 0.000 |

Therefore the solution is 1.000